Order of operartions

Solving problems with more than one function

In such problems always follow the order : BODMAS
B = Brackets, O = Of, D = Division, M = Multiplication, A = Addition, S = Subtraction

1)2x(5+2)x2= 2) 4(5+2)+2=
3)6x2-(3+4)+6+ 4) 8Bx2+(1x4)-7:=
B) 0= (4+1):= 6) (12=3)(3x2)
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Solving problems with more than one function

In such problems always follow the order : BODMAS
B = Brackets, O = Of, D = Division, M = Multiplication, A = Addition, S = Subtraction

)2x(5+2)x2- 2) 4(5+2)+2=
2xTx2-=
= 28 30
3)6x2-3+4)+6+ 4) 8x2+(1x4)-7=
11 13
B) 20— (4+1):= 6) (12=3)(3x2)
4 24
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